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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

SR ACARS Yaq
fa) What is cardinal utility?
TRYEGF Soifaret {2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

751 o fiw AR oo afde ofoTsH 2
%'37?
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(2)

(c) Define income effect.

@ Reres ige |

(d) What is meant by a person be ‘risk
averse’?

s e e Wi WMo {6 & A2

(e) Why is the average fixed cost curve
rectangular hyperbola?

oG g 9 @IETE S [ge =

() When is the long-run average cost curve
L-shaped?

LS oS A (RATT (oA L-Sgfed 2 2

(g9 What is production function?

e I [ 7

(h) Define expansion path.
e ARR IR T |

(i) State the concept of shutdown point of a
firm

<51 2B TeAT @ fA9E YIETTeo! Seag 91 |

() Define opportunity cost.
S{egiel e S fie |

22A/39 ( Continued )



(3)

2. Write short answers of the following
2x5=10

questions :

oo 2IARE B T A

(@) What is meant by slope of a budget line?
CEB ({1 GO B e {6 3@ A ?

(b) Distinguish between gross demand and
net demand.

I IR W % DI WS A el 4
(c) What are short-run and long-run costs of
production?
I SF I SRATA 45 e 2
(d) Establish the relationship between total
utility and marginal utility.
T Boaper JF 2 AR IEo o
T 411
(e) State the concept of optimum firm.
1 BT 4RETe SCEY 1|

3. Answer any four of the following questions :
5x4=20

o SARA e Sifer e i -

(a) What is inferior good? How is it different
from normal goods? Show it with the help
of indifference curves.
fre TR Re? FORT TRIO 3 (T

%4F ? RrqeeT (A9 TRAS (Y&l |
29A/39 ( Turn Over )



( 4)

(b) Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

oA R @ TR RS S iR
T&re o e FfRRe], SCEm- F41 |

(c) Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¥ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

@ 27 GO Jfed 9B AR s [ I
e sfacz | A feaE wE@Ee IE (9@
5,000 5 4@FR N WE IM FE, (@
10 51 Fpafa 3731 #17 | SIS 471 2 @ TS

F44 SRl 2 0-6. T 51! BF60E e
a1 o7 Tfepe |

(d) Define substitute and complementary
factors. Draw isoquants of perfect

substitutes and perfect complements in
production. Give examples.

s w1 Ao Tome s fr | o R
S <fef 395 TARTTR ST @1 o |
TwrRae fi |

22A/39 ( Conﬁnued)



(e)

4. Answer the following questions :

(S)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average

cost.” Explain.

“ofraTrenee IERS Tt Tl AP AT
5, cofeql v vy TeEE ST IW QRN
e R 2Pt =1 1”7 1 =9 1

Give the various concepts of production
costs in brief.

Teefe <R RS GRePTgR B fors |

e 2R Teq

(@)

(b)

22A/39

“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

oy SRR SEEiE B REGH RS
Tafe g e 17 e 4 |
Or / 9<1

Explain how indifference curve can be
derived using revealed preference theory.

o) SR ©gd A (O TR R
o[ oI, I 0|

How are average cost curve and marginal
cost curve derived from total cost curve?

@mmwwmmmm@wwmﬁ
9 o e 9 AR ?

10x4=40

10

5+5=10

( Turn Over )



(c)

(6)

Or / 9241

What is meant by optimum factor

combination in production? Explain with

the help of isoquant and isocost lines.
2+8=10

I Teeme i e [ iﬁTﬂﬁr?Smmaﬂﬂ
I3 S SRR (T4 2T 147 4 |

Explain the impact of change in rate of

interest on the consumers. Use
diagrams. 10
THCSTSN 8o [ T RS 2o)
41 | foq qrzm i@ |
Or / AT
Fill in the blanks in the following table :
3+3+3+1=10
OO eI el IR 4R 9
Number of Total Marginal Average
variable inputs output product broduct
fdasrne ¥ Ceo | 25T Ceor | o Beoyry
CIEGIE RS
3 = 18 30
4 = 20 ek
5 130 L ol
6 = 5 i
i i3 - 191

22A/39
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(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal’
returns begin?

@oqe TEd I OIRETS THRPHN SR
ofowhe =0 7 3R T, (9@ @ ARSI
A (ANER “{] TRPHA 2P T oIS
R?

(d) Critically discuss the law of variable
proportion. 10
oREeTE  See  REGT  THREAGTATORE
A F4I |

Or / 941

What are isoguants? Show the
increasing, constant and decreasing
return to scale through isoquants.

1+3+3+3=10
seueem @1 o e (HH )
ZREA, FCARAH SAF R Sesime s
oifwie (TSI |

* & K
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The figures in the margin indicate full marks
for the questions
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1. Answer the following as directed : 1x10=10
were AR fotrE Ses f -

(a) In a capitalist economy, the level of
employment depends on

@3 <[ Ao Mo Ta9 9 o7 7
(i) level of aggregate demand
A BIfRAE TR 891

(ii) level of aggregate supply
SEE @eEEd qE@E ST

22A/40 { Turn Over )



(b)

(c)

22A/40

(2)

(i) level of effective demand
&Y B TG eoqe
fiv) None of the above

So{Y OIS 72
( Choose the correct option )

(o= s M Sferear )
Aggregate demand can be expressed as
TR BIfA 2 SR
(i) D =D, +D,
(i) Dy >D,
(i) D; <D,
(iv) D=D, -D,

where (I8) D = Demand (wrfzam)
D, =Consumer demand (Cw‘l@lqﬁﬁﬁi) and

(¥¥) D, =Investment demand

(ffevcamr sifz)
( Choose the correct option )

(&% Rewsch R Shie )

When money wage rate is unchanged,
the slope of aggregate supply function is

R o1 TG 7 RS, ol sl
QI T4 SF1F 2]

(i) linear
R
( Continued )



(@)

22A /40

(3)

(i) non-linear
5-CIRF

(ifj) curved
qep

(iv) Any shape
I AP

( Choose the correct option )

( wm Rmeo! AR Tfee )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

R o fra e TgRE ARTE T
TSI SToRCHl 2

(i) inverse

fa=Rre
(i) linear
SIS
(iij) non-linear
-
(iv) both inverse and non-linear
e T T-CaRT TELR
( Choose the correct option )
(o Rermh TR Tfred )

( Turn Over )



(4)

{e} Phillips curve determines

e @3 fdy 9ca
(i) employment rate
e 2=
(i) unemployment rate
el =9
(i) inflation rate
TErFIfed =9
fiv) All of the above
ST SATHIRTTRI
( Choose the correct option )
(= fesico aif Sferean )
(/) What is modified Phillips curve?
Sigeenfde e @4 5 9

(9) What is assignment problem according
to Mundell?

TYER o Tfige)d IR T o
(h) What is Dornbusch’s overshooting
model?

CIET o eragfer wfH o
()  Define international financial market.
ST R8R w1q sizet figy |
() What is open economy?
Te YA f 2
b ( Continued)



(5)

2. Answer the following : 2x5=10

w57 AT Teq

(a) Differentiate between spot and forward
exchange rate.

xoff e FEES A 299 Twe i A
3901

(b) Write two constituents of international
financial market.

wgEfes 8 qeed Pl SAmE T o

(c/ What are the IS components of
Mundell-Fleming model?

qoeel-grfis S een-RfceR SAMEER
(534

(d) Give two merits of Phillips curve as a
tool of economic theory.

wefafos wgq Az fpiet e 9 T 8
ferar |

(e) Define impossible trinity of Mundell-
Fleming model.

ee7-grfi WA wpRe @'Y e f |

3, Answer any four of the following : 5x4=20

oo R BifkeE Ted ford

(a) What are the factors which cause shifts
in the short-run Phillips curve?

@R [ FREE ZyorR PR QYR
oifgeaq SR (I A ?

20A/40
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(6)

(b) Explain the concepts of rational
expectation in theory and practice.

ige W IJEIRT (vae @fes 2[SIE
YRETCO! LI <41 |

(c) What is adaptive expectation? Mention

three limitations of adaptive
expectation.

wfeafie gern &2 WR RRE Suwmer
TCEy 91 |

(d) How is the exchange rate determined in
a free market? Explain briefly.

T& RS [ 29 e e w41 =, e
0 40

() What are the relative irnportaﬁce of
aggregate demand and aggregate

supply?

TS SN WE AT @eE 9
M=IRT 9y 59

() How can the aggregate supply function
be derived?

Wmmwmwﬁa‘mww?

22A/4
/40 ( Continued )



]

4. Answer any four of the following : 10x4=40
wed Rilc wifer Ted it

(a) Explain the purchasing power parity
theory. Discuss its limitations.

4 wIOR el gl WM | WA
TREOPHZ Sl F40|

() Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

ﬁnﬁwﬁiﬁﬂf{mm@awmﬁﬁ
R 29 eA-GRE (AT SE TR
e T o 4 340 |

(c) How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

R @R e R E JarRifed
Ww%mwm?wmﬁ@ﬁmw_

e 1 |
ou mean by effective demand?

What doy X
(@ determinants? Explain

What are its

briefly-
ﬁsqs‘iﬂi?m?m@l

( Turn Qver )
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(8]

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

EE e W TNfET @R TEEe
SRl ST (@ R 1 =8, 9o
01

(/) Explain the Dornbusch’s overshooting
theory.

TII5T T SIAgIeR SCH! AT 3 |

(g) Write a note on monetary approach to
balance of payments (BOP).

(FACEH el (BOP)I JHI9S {EeAd 6w
BT BTl forT |

(h) Explain the asset market approach to
determine exchange rate.

fafrm =9 R SR o TwR qiest
0 41

L {
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1. Answer the following as directed : 1x10=10
oS AT e s ©eq forsi

fa) Which measure of central tendency is
known as positional average?

FHA TSR (PG (FIRT FAIS o1G 3T
Sl A 2

(b) What is the SD of the following values?
ol
O HACAE HI et 2

¥y O ol 7
22A/41 { Turn Over )



(2)

(c) What is meant by Kurtosis™
T Il o & 3@ ?

(d) What does r =0 signify?
r=0a % TEIq?

fe) Define a random variable.

IeF vered igel |

(/i In a Poisson distribution mean =7,
variance = 8.
(Write True or False)

9Bl 7D’ IBTS 91T = 7, 2P = 8.
(a1 ore fora)

(g9) E(c) =?, where c is a constant.
E(d) = ? 7' ¢ (X7 961 <3 |
(h) If P(A or B) = P(A)+ P(B)- PlAN B), then

what will be the nature of the events
A and B?

I P(A 91341 B) = P(A) + P(B)- PIAn B),
(SR AE B (¢ AFod 164112

() What is joint probability distribution?
A Il feqd 9

() When does a sampling error arise?

aifevTe @fo @fean 2’7 weg 9
22A/41 ( Continued )



(3)

2. Answer the following questions : 2x5=10
CE 2O Teq fep
(a) For any two unequal positive numbers

a and b, prove that AM > GM.

RGP 01 S S SR a = B 90T
299 9 & AM > GM.

(b) What is the probability that a non-leap
year will contain 53 Fridays?
g1 S-S A 530 WFIR  CIRE
w2

(c) If the covariance between Xx and y

variables is 12 and variances are 16 and
9 respectively, find the correlation -

coefficient between x and y .
M x AF y Yo1 beied 29 12 FF HIF B
TUEE 16 SF 9 T, (SR T BAPoR HE

A Sfered |
[@ If X; i8 a random variable with
respective frequencies  fj, there

i=12 3 -, n, show that E(X) = X.

o X, b1 Ao vere T AN TR f; 2,
ﬂ,@_ i':‘-]-a 2} 3: vy My (9C i\,-ca Cﬁq\@m a

EX) =X.

(e) Mention two methods of random
sampling.
i lfver O oo Tad T |

( Turn Over)
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(4)

3. Answer any four of the following questions :
S5x4=20

TS il 2pprRd RCI Bifee Te fore

fa) Find the first four moments about the
mean from the following distribution : 5

R eI A | 4w GIRG g

Sfered
Heights (inch) : 60-62 63-65 66-68 69-71 72-74
Ewe (Ffdre)
Frequency : 5 18 42 27 8
RIESIERH

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and -1. 5

ST @ ST PICIvaR IR TR +1 e
-1 e AT |

() Define conditional probability. If
P(A)=0-4, P(B)=0-7 and P (at least
one of A or B)=0-8, find P (only one of
A and B). 2+3=5

I MROR k@ | 4 pa) = 0.4,
P(B)=0-7 W€ P (FW[CF A 7371 B4 %)
=0-8 W, (ST P(A W% BI R
<) el Bferea |

ek ( Continued )



(S5)

(d) A random variable X has the following
probability distribution :

9ol AT R X @ TR WIfEel %49

A P A -
2 4 5 6 8 9 11
P SN 0 11 03 04 02 05 03
Find mean and variance. 5

SIS S 4T e |
fe) Explain the principal steps of a sample

survey. 5
2Afo6ae *rafeq fifen gaeam Seawar ¥4 |
4. Answer any four of the following questions :
10x4=40

worq e Bife! e Sed ford

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :
fRvgad Wea 2 2w Rfdw eEr (&2 oo
eI 7/ 25 Sfered

Age (years) 20-30 3040 40-50 50-60 60-70

7P (I29)

No. of persons

Iz A

Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10

fvgaeR (A BT sl g el @RI
=7
20A/41

170 110 80 45 40
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(6)

(b) Distinguish between positive and
negative correlation. Find the rank
correlation between X and Y from the

following table :

WWﬂmwmwmlm
o wifeeR o X WF Y9 T TS
Tfered :

X:15191310172281312
Yy : 21 20 23 18 19 25 1l 16 15

Analyze the result. 3+5+2=10
el [AeaEe 41 |

(c) State and prove Baye’s theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn
in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not
replaced after each draw? 5+5=10

SEfeR @4 THATICH TS S e w4 | A
@51 FeT=e 1051 397, 661 Fel wF 301 981 I
F T O °[1 bl ol fof 01 791 o =
e 2fech 96 AR RS T@h Fre @R
fiey T2, (OCTRCA GHECY P, 8 S I8
@ SR TSIl R 2

2248/41 ( Continued )



(7))

(d) Obtain the constants of a Binomial

(e)

22A/41

distribution. In an intelligence test of
1000 childrens, the average was 42 and
SD was 24.

(i) Find the number of children
exceeding a score of 50.

(i) Find the number of children lying
between scores 30 and 54.

(i) Find the value of score exceeded by

the top 100 children. 5+2+2+1=10

fom 679 39 I#IRE Sferedr | 1000 Prag
e« QB 7T 42 @ e f[5em
24,

() 505 Sfte W@ | FreT R
Sferen |

(i) 30 W& 543 Hrer® T4 Il fRre 2
Sfered |

(i) i g9 ¢ 100 & fRrReg R
Sfenedr |

P(0 < z<-33)=0-1293,
P[0 < z<-5)=0-30854

(1) Distinguish  between probab%l%ty
mass function and probability

density function.

( Turn Over)



(8)

(ii) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
1, 1 and 1 respectively. What is the
probability that the problem will be
solved?

(i) Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10
(i) SIS &1 T SF AP Ty T
{12 ot |

(i) % e A" 9O TP A, B 9F CF
SHIEE 3R T W SR e 99
e A wwEE 1, Lowwe 1o,
COCT2'CE FNICOl S (ERR SSifael
T 2

(i) (T (P EI S fGom A% 4
A% AfeadT =z 9

() Explain the different types of sampling
with their relative merits and demerits. 10

Afosama Rfen ez Sl eMgR e
ST 41 |

* Ak
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